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If logical expression
Statement 1
else
Statement 2
end
Aok 53l 13 e b 331 Logical expression
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if (a ==4)
b=5;
else
b=8;
end
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if (a>b)
disp (a)
else
disp(' a is not greater than b'")
end
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Statement 1



else if
Statement 2
else if
Statement 3
else
Statement 4
end
end

end
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if a==1

b=1

elseif a==

b=4

elseif a==

b=9

else

b=25

end

end
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clear; clc
a=input('a='"') ; b=input('b=");
if (a>0 && b>0)
disp (' a and b values greater than zero ');
C=a * Db
else
disp ( ' a and b values not greater than zero ');

end
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For variable =initial value :increment :final value

Statements

End

ik 4zl eie : Variable

il Ly oy (g 1) 400 5Y1 20 |nitial value

A W) dal) ) Lgsilzal ay il 30l 1) laie: Increment
ol L) Jay Al dleill 4wl jlaia : Final value

Dl A Jaad) a3 yriall (8 Lgaada s g Al 6Y) il aa) e ) Sl Alea Jas
Aed CulS () GEalys saa Aed o pasyd il N salll lase ddLal o6,
O 2 Cady axd ol IS 138 Al dadll sl gl e sreal (A il
S ez ag 4ald OISl ) S 130 Lal ) SN ey 5 3 Jaad) OS Ao Y

1l

fori=1:5

disp (i)

end
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fori=20:-1:17
disp(i)
end
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fori=16:-1:3
If rem(i, 3)==0
Disp( i)

End

End

s=0;
fori=1:5
S=S+i ;
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fori=2:2:15
S=S+i;
end
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For i=var 1:increment : final value 1

For j=var 2 :increment :final value 2

Statements

End

End
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clear; clc
n=input( 'n='); m= input('m="');
for i=1l:n
for j=1:m
A(i,7J)=input('a=")
end
end
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